ﬁ 3.8112.0  3.8112.5
L ’ U F E N 3.81121  3.8112.6
3.81122  3.8112.7

3.8112.3  3.8112.8

DE Garantie/Haftung nur bei Montage gemass Anleitung.
I_ A N I FR Responsabilité/garantie a condition d'observer les instructions de montage. 381 1 2 4 381 1 29
IT  Garanzia valida solo se si rispettano le istruzioni di montaggio
EN The warranty/liability only applies when installation is effected as per the instructions.
TO W e I h O | d e r ES La garantia solamente sera vélida si se siguen las instrucciones de instalacion.
NL Garantie/aansprakelijkheid uitsluitend van kracht indien volgens de instructies is geinstalleerd.
CS Zéruka a ru€eni za vady jsou poskytovany za podminky, Ze montaz je provedena v souladu s timto navodem.

- LT Garantija taikoma tik tuo atveju, kai montavimas yra atliktas tiksliai pagal instrukcija.
PL Gwarancja obejmuje wyréb jedynie wéwczas gdy montaz zostg przeprowadzony zgodnie z instrukcja.
HU Szavatossag/jotéllas csak az Utmutatd szerinti szerelés esetén.
RU  Mbi npesocTaBnaem rapaHTuIio U Hecem OTBETCTBEHHOCTb, TONbKO €CNIM MOHTaX NMPOU3BE/eH B COOTBETCTBIM C MHCTPYKLIMEN MO MOHTAaXY.
BG TapaHUNATa/0TroBOPHOCTTA € BanAaHa CamMo KOraTo MOHTaXbT € U3MbHEH KaKTO € YKa3aHO B MHCTPYKLMATA.
PT Garantia/responsabilidade apenas no caso de montagem de acordo com as instrugdes.

SK  Zéruka plati, len ak sa montaz vykond podia ndvodu

HR Jamstvo vrijedi samo ako je montazu izvrsilo ovlasteno prema uputama.

DA Garantien geelder kun, hvis monteringen udferes af en autoriseret fagmand, der folger vejledningen.
ET Garantii/vastutus kehtib ainult paigaldusloaga spetsialisti tehtud juhendile vastava paigalduse korral.
FI  Takuu/tuotevastuu vain, kun asennuksen kayttéohjeen mukaisesti.

LV Garantija ir speka tikai tad, ja uzstadiSanu saskana ar instrukcijam.

NO Garanti/erstatningsansvar kun hvis montering er utfert av i henhold til veiledning.

RO Garantia este valabila doar in cazul montarii conforme cu instructiunile.

SV Garanti/erséttningsskyldighet géller endast om monteringen har genomférts enligt anvisningen.

SL Garancija oz. jamstvo velja le, ¢e je montazo izvedel strokovnjak s koncesijo v skladu z lokalnimi predpisi.

Art. No.:
3.8112.0
3.8112.1
3.8112.2
3.8112.3
3.8112.4
3.8112.5
3.8112.6
3.8112.7

Art. No.:
3.8112.8
3.8112.9

DE/FR/IT/EN/ES/NL/CS/LT/PL/HU/RU/BG/PT/SK/HR/DA/ET/FI/LV/NO/RO/SV/SL




Art. No.:
3.8112.0
3.8112.1
3.8112.2
3.8112.3
3.8112.4
3.8112,5
3.8112.6
3.8112.7

e,

o
2

IN
3
3

Art. No.: 3.9812.5

Art. No.: 3.9812.4

g 13 mm
@ 24 mm @ @
M6 x 30 mm M6 x 25 mm (&
g
® ® &
3 mm

Art. No: 3.9812.2

Art. No.:
3.8112.8
3.8112.9

At No.: 3.9812.5

S
@ 24 mm Q

M6 x 30 mm

®

Art. No.: 3.9812.4

@13 mm @
=)

C)

M6 x 25 mm §
%

®@ &

Art. No.: 3.9812.3

LAUFEN

Laufen Bathrooms AG
Wahlenstrasse 46

CH-4242 Laufen, Switzerland

www.laufen.com

C4H802, C6H1202

05/01/23 4.9857.5.112.000.1 PLU




	Untitled

